Quadrahc Zﬁol E)(ponmjﬁ‘ll ;Mﬂc'}l',oﬂS H‘W\Cwark

y, —-Zx 'l'ql +6
- -2 (x*-2x#]-1) *€

Loy= = 2x* #4x+ C

\

VERKACIERTEN VE
y= o2 Cx 3)(x+)) y~ -2 (x*-2x +]) +2+6
y"Z(x-H1+Z

X—m‘k' 3 ¥ "
y-v’ﬂ-": é

2. 'aﬂ(x J)1+c.
a(x-4)*+ 8
y sub I'n (6 O) <

= a(g-4)" +2
O = Yz +§

25 / e 2448
a2

3, y=alx-%)(x=x,)
=a(X=-3) x+3) (y-"“L
sub is(0,-27)

17+ 2(0—3)(o+3)

-27=-1, /y 3(x—3)(x+3)
=

by x%+4x #1060 = O

vertex —+ (1,8)

x-u'n(‘

Hay x*-3%x + /0 = |
b - Yac b¥-Yac
= 8)5-4(1)(10) = ()91
56‘! 40 = J6—-Y%0
= 2Y = positive = —2Y4 e neJa‘l'nvc .
Zero  real roots,

Two real roots.

{ L4
S



5. )

(2)(4’ N(x+3)=0
Ix+1=0 x+3=0
=1 Xe2

7 -Z:”AWT:MZ; R Tt
)
Y “/2.
= (1c )
- Cﬁ?)l‘
= (1)*
= é L[
2X=5 X+32
7’ Q é:sa‘l".S ) (366)
I T
= b
3x-5 = 2x+€
3>< 2»{ = €> + 5
x; =11

Q. y=1 Cl-t-r)
= 200 (|} +0.25)
Vi 200 (l.ZS)t
set y = ]oo00
loooo = 266 (1,28)¢
Zoo 2.1

50 =(.29%

lo o 50 > ¢ /oy €125)
Iog (l 7«5) }m;.iﬁlv?*'s)

%LW//7 Szaw:c

bt o

2Zx"+Fx 3 30 b
2+ Ex +X 4350
Ix(x a2+ [(x43)=0

t

¥+ Sx+ 20
P(é)§ S G A
5(7) <zat Fador?
br*-Yac
= (Y -Y (1) ?)
= 25-128
= - 3__0-- naga‘h ve
“ A/a S&Im hens
E) ,ZS . B e ______l____
. L Ok
i 32/3 = .J—-\
N 25
Ly 5%= o 50
loqg S$* = 103 [050
L’,@g_;s. = log 1650
tOJ‘S — in



